BREMHRRETEHIE (FRMS) hik THTE 7H 18 (A)

Frx

o & B &t E i = & b fE z B £ B

m B = R O%

() ART=®) (M) (M) (M) (kg)

2L A 59.8 JtiEE 59.2 1,728 1,188 972 10] vay
IZACA 12.5 E & 10.1 - 1,620 — 10 vay M
ZIES5 2.7 BERE 2.7 2,916 — 2,700 0] A L
[E<ELY 29.5 £ % 255 1,836 1,404 1,080 15 A L
HTE 1.6 BERE 1.1 2,592 2,160 1,080 4f A M
ZEDOH 6.1 BERE 42 1,728 — 1,620 4f A M
FrRY 70.1 = I 22.5 864 648 594 10 8
IE5NAZES 1.2 = I 0.1 — 238 — 02 A L
hE 7.0 X & 3.3 - 864 — 3l vay LL
_hE 1.1 = B 0.5 5,184 4,212 4212 3 vay S
_hE 2 [ 0.4 4212 3,240 2,268 3l A S
125 1.7 ElG 0.7 3,780 3,240 2,970 5] vay
+)L1)— 0.1 & % 0.1 — 2,700 — 10 A LA
FRINGHR 1.9 N 1.5 — 86 — 0.1 vay L
LA 37.7 E % 37.3 1,604 1,604 1,512 10 A 16
FoTYA 1.2 BRE 0.8 1,944 1,728 1,080 4f A L
=S5t 24.2 = I 9.4 1,728 1,728 1,350 5, B M
=p5Y ERE 45 1,080 864 864 5] A L
ANESSES) 14.3 AXoa 8.5 2,646 — 2,592 10 vay 5
Y 8.0 EES 3.6 - 1512 — 4 vay 3L
Y = I 26 2,268 — 2,160 5/ A LL
k2 41.6 EES 24.6 1,404 1,296 1,188 4 vay L
d X & 14.0 1,620 1,296 1,296 4 A 24
S 5.9 EES 3.7 238 216 194 02| vay M
F—<> 5.8 X 7 24 97 76 76 0.15 A M
E53ACL 2.2 £ & 0.9 2,419 — 2,117 5/ A LL
x93 2.2 BRE 2.2 76 — 43 0.1 A M
IZH5Y) 4.0 BERE 3.9 1,620 — 1,296 5/ A LL
SPVAITFA 0.1 X & - 2,160 - 150 A LL
MrAL& 2.8 E X 2.3 2214 1,728 1,728 5 M
[ES AT 49.7 BRE 1.1 — 324 - 10 L
[ECTRYNS BRE 378 - 324 10 M
f=Fh&E 59.3 E E 19.5 3,024 — 2,808 20 L
5oELD 1.5 BRE 15 1,404 1,296 864 0] A L
ELLV=T 1.6 BERE 0.2 119 - 97 01 M M
ELLV=IT E 15 0.4 - 173 - 0.25| M M
ZADEET 40 E I 2.6 32 24 22 0.1 A
LHL 0.8 2 [ 0.8 70 59 43 0.1 A
ESES T 496.0
B=

o fm B & E i = & hfE =7 & £ B

m B = O

() ATT=®) (M) (M) (M) (kg)

BINAMDAET 1.9
INGRH DA 1.9 BRE 1.0 - - - PR L
INGRFHDNA BERE 3,186 — 2916 241 A M
INGRFHPNA BERE 3,186 — 2916 241 A S
LEY 3.1 F Y 0.2 7,776 7,776 7,560 17 115
INLUVT 0.9 TA)H 0.6 5,940 3,240 3,240 17
L7 2)1LY 0.3 mr2Y 0.3 — 4536 — 15 50
YATE 2.6
PErE=IY 0.9 5 & 0.9 6,696 6,156 4,320 10 MA
AL 0.4 5 & 0.4 7,128 — 6,912 10 40
3HET 1.3
) 1.3 MET 1.1 - 10,584 — 4 15
FTHHE 1.0
343 1.0 [ITRET] 0.3 432 410 389 0.4
B35 0.2 JtiEE 0.1 — 756 — 0.18] vay LL
fipYp) JeiEE - 756 — 0.18] vay L
fipYp) JeiEE - 702 — 0.18] vay M
SESE 2.0
To9x7F 0.6 =l 0.5 - — — PR LL
F5917F =I5 - 3,629 — 16 A L
To9x7F =l - - - PR M
Big 0.7 2 E 0.4 2,938 — 2,808 14| B 4L
EA—* 0.3 2 [ 0.2 3,456 — 3,024 140 A 5L
W52 BRE 162 — 140 025 A 25
W52 BRE - 324 — 025 A S
AO2EF 5.0
7—IJLR 1.2 = I 0.4 2,484 2,268 1,782 4 A2
AH3 1.2 * % 1.2 2,592 2,160 2,106 5] vay 4L
ZFDAOY 25 ki 0.4 7,560 6,804 6,804 gl vay 4
FULIVAEL 40.8
ERRY 31.7 BRE 16.4 3,456 2376 2,160 6] A LL
FLVvH BEREE 1,836 — 1,620 5[ Y19 L
CIEFET LD 9.1 BRE 7.9 3,240 2916 2592 0] A 4L
INFF 14.3 EJEY 14.3 4,320 2,991 2,808 15
IMFITIL 3.0 EEY 3.0 3,780 3,780 2,916 10 6
FoA4T)LY 5.0 oty D2 5.0 5,076 4,320 4,320 5.8 30
BEET 83.1




